SH6EE BREXBEXIH—ER(STN6FL4A~FM7EIAD)
(B A)

XHIER| # H e X H AR

= 48108 25,0006 EE (2024 FE ) ERFEE =8

= 48138 9,000\ 8EMHI B4 62 B FE L EEAFT H A6 7R FRIRBHRER

4 HEt 21 34,000

= 5H8H 0,000| S EEESTREAEEISEENEASAERESBRELLE
= 5810H 5000[fE A R GRS EHSTIHOEERERSEBRERE

EHE | 5A17H 10,000 x%u%%;%,% MEAFEAKOEMEICESTH

ZDi | 58178 22,000|:% 55 1~ 1 I ENRRI K

= 5821H 5,000 fﬁ?EZIKLE'RL CEDERTNCEERERESBERES

':,ﬁ-: SHZSE 5,000| AR £V Y1) — FI%%E CRRARADVH MR AESESSTEERERSBEESS
= 58238 10,000|EEA B BE ERRNER

%= 58258 10,000| & 2|Sr77r)l/5l X2023- 2024*7“/7;(&—7‘4-%%

= 58278 J000|iEARAEHM IR ESRERRRBHR

% 5H28H 10,000/ & ZISLREP/J\JL¥I17KEP9&A”*69IEIJE%%‘A?Ei‘EAA%

= 5H29H 10,000( & K%L%t%ﬁﬁﬁﬁ%%*ﬂﬁﬁh_%%m %ﬁ

= 58318 5000[fe K124 LB E 15 ERMERIRBERES

5 A&t 124 108,000

= 6 H5H 10,000/ FERAEMBEATHEREHETTOFEERERKR LI —BHRE
EFf& [ 6A5H 10000|EZSEE EHNERFROEFBHAEICHESITH

= 68148 5000[fE KRB R R—VIHETH6EEF2RBERXHEHLIIEEE
= 6H26H 9,000[fE AR E N BRSO FEEBERERRES

6 A &t 444 34,000

= 7H10H 12,0001 5 H X ALEF N\ REFITITER

= 78268 5000| LN E TR S ESREC2MBERE- ﬁ%ﬁc%?&%ﬁ%%

o 78290 10,000|F R A FTEEAR B RAZRE MR DR

7 Bt 3 27,000

ZDih | 8H9A 11,000 5% & 4 R EN R

= 8H23H 26,000| & = A £ 5% 51 38 SRIMERERICHIEBR.FIEERE
8 A&t 214 37,000

= 9H30H 8000|EER BRI ESTEINERSE

9 A&t 144 8,000

&= 108228 15000 Z = ERXFREFUL T av s

ERZE [ 10825H 10,000|BiE=iEE FHEFROEXEGEICHESITH

108 &t 244 25,000

D | 11818 10,000|E65RIEEAEERIEEXAEEREREIES

& 11898 10,000 B FH BE ZIK'm)ka)il,\A%

2% [11A118 20000/ HFBEABEASE71RBREICHESER.FERESE

BEREE (118278 10,000 Vi FRESER XEFEROERSMMEICHESTH

=& [11A29H 11,000 fE R RS EIGSSTCEEE LR BEREREZENERRE
11 A&t 54 61,000

EHE | 1283H 22,000|# £ R E IR BFEDEITHESIHEER

&= 12848 5,000[f A B RKR—V 2 S EEEINBEERRUVE2ENBHIEELEHLS
EHE& | 12A30H 10,000| RESER WWOMKOEREAEICHESITA

128 &t 34 37,000




XHIEH| H# H ZHe%E T H AR
= 185H 8000| FH7FEABM I REN - EARFRREFIFNESRE
= 1H8H 10,000|BE A H FLEF2025FEHE/N—T1—2H
= 1A9H 12000 E R RN EXEMAESESSH7TEHFERLFIXBESE
& 1A118 10,000 Ef& - £ERAR—VASEBHREESE
= 181780 10000 EREE IR EERTFENERS
EHE | 15208 10,000t REBREE SHAKDEHMEIZHSIFTH
D | 1A27H 4,400| 3% & A RIENRIK
1 B &t lhGs 64,400
= 2H3H 8000|E+ R BEEAREASKRERE
= 2H58 1500[fE R E M TR EEESRRAESE
2HEt 244 15,500
EFE | 3A7H 16500| RIFREZEREIEZERE SAFROEGEICHESIHER
EFf& | 3A10H 10,000| EZF=iEE BIURZEFRDEREHMEICHESITHR
ZDih | 3A14H 22,000|;% K. BliERARIENRIHK
ZDih | 3A17H 54,450|F K. BliEE RFUERIEKERIHK
ZDih | 3A28H 3,025|:& £ 4 RIEN R4
3A & 54 105,975
FER 4844 556,875




